


LD

LD
>99.5%0,
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-2 40°C
500
-1
a = KgRT ' . 3-1-1
a -1
K— K=1.4
g— 9.81 - 2
R— 26.49 - K°!
a =19.07T7" 3-1-2
200K
a = 19.07+/200 = 269.6 ~ 270 - !
Mach
M=v/a
500 - ! 270 - ! M =500
+270=1.85
1.5~2.0 LD
1 Lavel
LD
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P /P, < 0.5283 3-1-3

AA.=i{1<2+1(”Kz_le)}Mil =/ M 3-1-4
A—
A— A M
M
M
P,
2/K Kl
)= ) - 2alE ) -1
K+1\a )= P TK-1\P, o
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~1.36 . 2

P >P

P. /P /P,

P /P P

P /P,

1.

/



CO

2 co
3 1600°C
co
2C0 + 0, =2CO0, AHC = - 564.84 : -
co,
co 15 ~ 20
1300 ~ 1600°C 35 ~ 40 2150 ~
co
4

2300°C
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314 -

0.5
Po i

p0.4( 1 +

0.6
0

d.B

40

|

40

3-1-6



E N VS )

0.5 0.6
Py’ dy

max 0.4
p
15mdﬁ2
n :(h ~1.5
d,——
d, 1 =0.03937
2 . "2 =14.223 -2
100 ~ 130 3~4
0.6~0.7
2
R = 2.41><104(Uh )
R_
Umax _1
_ 4Py
Ve = V0,404
v -1
H R H
E,
E,
E,
E,= S0
o

3-1-7
3-1-38
h
Pq
0.35~0.4
3-1-9
3-1-10
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5 Es
4 5
70 ~ 80% 5~10% 20%
CcO
3-1-1
3-1-1 LD CO
kW E E
3, -1 ) E + E¢
LCO co co
5 30 0.30 6.0 5.2 1.15 0.536
10 45 0.40 94 98 0.96 0.490
25 85 0.75 178 133 0.536 0.350
55 145 0.95 285 718 0.398 0.350
100 250 1.30 520 1625 0.320 0.243
130 300 1.70 628 2420 0.259 0.206
200 467 1.75 980 3970 0.247 0.198
CO
3.
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A} ANNN

Zjme—ri]

AANN\N

I S NN

3-1-1

4 ;
I v
7 %
“
I

)
A
v’ -
s %ol L

¥ h
R w6 .
A
ﬁw 7/

3-1-2
0.3~0.6 - !
4 co
1
0.01~0.1 Cco
3 1’
G 3G
Sz}=47x4rrr2 = 3_1-11
?”ﬁ X o r 0
G —1 7 =3x1.43
.
o — 7000 -7
0.1 1 3
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3x3x1.43 2 _3
S N = = 37 " O
2 7 0.05 x 107 x 7000 2
0.01 Sy =370 * 20, So
37.0~370.0 * 0, 100 *
LD
2 —_
S = — % =3rV 3-1-12
10~12% p =3 - 7
0.04 ° v =0.3~0.5 - ! 1.5~4.0
4.0
_ 3)(012 _ 2 _1
‘2x10*3><3‘60
50 — 60x50=3000 °*
3
18% 2%
1 1
18% x32% =5.76% 18

5.76% x 18 =103.68%
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CoO

"o

x Me +y/2 0, =Me,O,

Fe C P

2 Fe + 0, =2 FeO
FeO

FeO = FeO

y FeO +x Me = MexO} +yFe

J =¢D C - C = $DAC = RAC .2,
D_ 2 -1
¢_
C cC —

3-1-13

Fe

3-1-14

Fe

3-1-15

3-1-16
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Jo 0,

Jo, = Je = BcAC
AC = Jo /B
Jo, AC C
Cc
1600C %C %O =0.0025 % C >0.5
0.005
FeO 1.45
0.33
C % O
FeO vo, 1~4
FeO Fe, O,
LD
400~500 - ! Si Mn
Fe
Vo
Fe
C Cco
2.
P, 2100 ~ 2350°C
0 L 1%
Fe, O,

320 -

3-1-17
% O
% O
FeO
Si Mn P
FeO



0.0218%

2 FeO

> %FeO

0.0218% ~2.11%

%02 = Te,0, 3-1-18

> %Fe
C-0
Si Mn P S
Fe- C 3-1-
2. 11%
2%
0.04%

321



1600 £
v
1538 B.
“\\ L
1394
V5N T~
. ~{ N s . ] .
N [l I~ L2227
1200 ~Z 1148 T - ¥ TL+Fe;C
A yd Y F
T I
1000 ; ; 1]
© G / : A+Lg+Fe;Cy Lo Fe;Cr+La
912
L N\ [A+F)/Avbe,c, |1 |
300 i -
\p NS/ 727 | &
F 0.02184I I I -
| | |
wolP+F P | PiFe;sCy || P+Lg+Fe;Cy La Fe;Cr+ly
| }
' | |
| T
200 } | [
0.77 12.11 14.3
0.5 1.0 15 20 25 30 35 40 45 50 55 60 65669
Fe we/%
3-1-3 Fe-C
P S “ ”
P S
3-1-4
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\ 0.18
40 AN 0.16
07 \[C] Jo.14
o6k 30 0.12
50‘4_ X 20 0.08 . {004
> S 5] g =
PLEIE N 006 “z 1003 %,
o2k 1oMN A : T 3 {002 3
0.1} (SN °“°~~§2 0.02 0.01
oL 0 0 0
g (CaO)/,/'/. 18
g 40 o 16 ,
?3 30 QN 1:: {5"
1Y N
3 N 10 3
5 20 RIAN g &
E "o~o. s
3 R TP 6 3
210 o=t A2 4
I I ==
010 20 30 46 50 60 70 8 90100 °
W 8] L /%
3-1-4
3-1-4
20% Fe Si Mn Si Mn

Fe +% 0, = FeO

2 FeO P%OzquQ

Fe,0, + Fe =3 FeO
Si + 0, = Si0,

Si +2 FeO = Si0, +2 Fe

Si0, +2 Ca0 = 2Ca0 SiO,

Mn +% 0O, = MnO

Mn + FeO = MnO + Fe
Mn + O = MnO
323 -



Fe Si Mn

MnO SiO, +2 CaO = 2Ca0O SiO, + MnO
MnO + Fe = Mn + FeO

2 Si Mn Si Mn
1450°C
C+1 0, =CO
C + FeO = CO + Fe
C + O = CO
FeO
3 w so, 20%
CaO Si0,
4 W T, 20% ~ 30%
W rre
5 40%
P

2 P +5 FeO +3 Ca0 = 3Ca0O P,0; +5 Fe
2 P +5 FeO +4 Ca0 = 4Ca0O P,0; +5 Fe

4Ca0 P,0, +2 Si0, =2 2Ca0 Si0, + P,0;
2 P,0; +5 Si =5 Si0, +4 P
P,O; +5 Mn =5 MnO +2 P
3 P,0; +10 Al =5 ALO, +6 P

FeS + CaO = FeO + CaS

FeS + MnO = FeO + MnS
324 -

0.02%



CaS +3 Fe, 0 = SO, +6 FeO + CaO

CaS +2 0, = SO, + CaO

2
6 MgO
3-1-5 30t MgO
7Tmin MO 7 13min
MO MgO 7Tmin
MgO 800kg
MgO MgO
MgO
4 o
%,3 S S Q\v/‘i’
=
52 ///‘\'{'
1
01 3 5 7 9 11 13 15HR
R 5 Bt 1) /min
3-1-5 MgO 30t
1— 2—
7
400 ~ 500°C
3
1
P S
TFe MgO
Si Mn
2 TFe
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V/T

m’/t

TFe

P S



Si P

0.7~1.10 3-1-2
3-1-2
t <30 50 100 ~ 150 150 ~ 200 200 ~ 300 > 300
V/T m’/t 0.92~1.15 0.95~1.05 0.85~1.05 0.7~1.09 0.7~1.10 0.68~0.94

2.

H h h/H<0.7
3.
4.

75 ~

90% 100 ~ 150k g/t

1.
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3-1-3
3-1-3
1 2~100 | 101~200 | 201~ 300 > 300
150t 160 165~175 | 175~185 | 185~190 %200 550
1~5 6~50 51~100 | 101~150 | 151 ~200 > 200 350
50t 52 57 62 67 72 77
1 2~200 | 201~400 | 401~600 | 601 ~800 > 800 1500
30t 24 27 ~31 33 35 37 40
1 2~50 51~100 | 101 ~200 >200 300
15t 16 17 ~ 18 18~19 20 ~21 22 ~24
3.
15t
22t 19t 0.5t
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0.7~1.5MPa

AW

0.12~0.13MPa 1.8~2.2
0.6~1.2MPa
3-1-4
3-1-4
2~5 6~50 51 ~100 101 ~ 150 151 ~ 200 > 200
50t MPa 0.85 0.90 1.00 1.10 1.15 1.20
1 2~50 51 ~200 201 ~ 600 601 ~ 900 > 900
30t MPa 0.75 0.90 1.02 1.10 1.15 1.20
1 2~50 51 ~100 101 ~ 200 > 200
15t MPa 0.90 1.00 1.05 1.10 1.15
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1. Q m’ /min

m’/h
3
m’/t
Q= in X t 3-1-19
2. m’/t min
m’/min
I = " 3-1-20
3-1-5
3-1-5
t <12 15~50 120 ~ 200 > 200
[ m>/t min 4.0~4.5 2.8~4.0 2.3~3.5 2.5~4.0
1.
FeO 3-1-63-1-7

FeO
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3-1-6 FeO %

min <4 4~12 12~15
0.7 15~36 7~15 10~ 15
. 25 ~ 11~2 11~2
| 0.8 5~35 5 0
m
0.9 27 ~43 13 ~27 13 ~25
3-1-7 % C/min
min 3 5 7 9 11 13
0.90 0.312 0.330
0.95 0.294
1.00 0.294 0.376 0.414 0.285
1.05 0.320
| 1.10 0.298 0.323 0.364 0.226
" 1.15 0.246
1.20 0.253 0.418 0.145
1.25 0.310 0.200
2.
H = bPD, 3-1-21
H—— mm
P— MPa
D,— mm
b——— b=35~463 b=45~60
3.
1 Si P
Si P
2
2min
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3 FeO

FeO
4
5
6
7
4.
1 PS
2 Si+P>1.2%
Si P FeO
FeO 25 ~30%
FeO 10~ 15%
FeO

332 -



510.7% P 0.5%

'_EF$

B &

S50.04%

1280°C

I.
Si P S
2.

a~t

6 8 1‘0
WA 1), min
a

90%

3-1-6

35%

6 8 1l0 1.2 14
VR [ iein
b

16
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3.5%

3.0%
25% 30%
10min
FeO
Si PS 92 ~
95% 50%
3.
FeO
95% 60
~70%
MgO  CaO Ca0
MgO Ca0 - MgO
MgO MgO
MgO
MgO
MgO Ca0 - Si0, - FeO
MgO
2Ca0 Si0,
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MgO MgO

Mg0 MgO 6~8%
<1.2 0.7
1. Si P
Si P S
1 PS
2.8-3.2 PSS 3.2~3.5P S
3.5~4.0
>
1 P<0.30%
W= S pii000 ket 3-1-22
B—  Ca0O/Si0,
% Ca0 —— CaO %Ca0 =%Ca0 - B%Si0,
2.14—Si0,/Si
2 P>0.30% B=CaO/ Si0, + P,0,
w22 %St %P pi1000 ket 3-1-23

% Ca0
2.2—1/2 Si0,/Si + P,0,/P
3 Si P

W=a %S x1000 kg/t 3-1-24

0.9~1.1

MgO 6~ 8% MgO
MgO
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% x_ %MgO %

v x 1000 kg/t
%Mg) — MgO
2 %
W MgO
Vo= W oW —W
129 1%
0%
S 0.7% P 0.2% S 0.05%
Ca090% MgO3% Si0, 2%
Ca040% Mg035% Si0,3%
MgO 8% 3.5
1
W= XS 1000 = 27.4 ket
2 MgO
W= A2XA0% 1000 = 114 ket
3 MgO
oS W M0 M0 = it 3
= 5.4kglt
4
Wo=27.4-11.4-5.4=10.6  kg/t
5 Ca0
10.6x40%/90% =4.7  kg/t
6
W -
= o X3.5x1000- 4.7 = 58 Skg/t
7
/ =10.6/58.5=0.18

336 -

x 3.5 x 1000 x

3-1-25

3%
35%




0.20~0.30

4kg/t
FeO
2~5%
1/2~2/3
1/3~1/2
3min
Sil.1% P0.4% S0.035%
Ca0 80%
Si P
3.2 25%
0 2.21.140.4 % B
W = 30% x 3.2 x 1000 = 132kg/t
W =132x25% =33kg/t
1/2 4 ~ Smin
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1200C 25°C Co

C 1473 + i 02 208 = CO 1473 + 137520 J/mol

2
lkg C cO 135720/12 = 11300k]/kg
1200 ~ 1400°C 1650°C
100kg
15% 10%
Q = > MCT 3-1-27
Q—1kg kl/kg
M— kg
C— C. 0.84~1.0kl/kg C C,

1.23kJ/kg C
338 -



3_1-27 12000 C-0 co Ikg
11300
I = 100x1.0415x1.23+10x 1.23 = 34T
Ikg 100kg 1%
1% 3-1-8
3-1-8 1%
15% 10%
C
1200 1400 1600
C +0,=C0, 244 240 236
C +1/20,=CO 84 83 82
Fe +1/20, = FeO 31 30 29
Mn +1/20, = MnO 47 47 47
Si 40,42 Ca0 = 2Ca0 Si0, 152 142 132
2 P +5/20, +4 CaO = 4Ca0O P,0s 190 181 173
3-1-8 Co,
co o,
1400°C 0.5% 3% 71°C
249°C
30t
3_1-7
0 ~ 6min T =1146.7 + 68.41 Oc 3-1-28
6 ~ 11min T =1253.4+26.11 C 3-1-29
11~18min T =1192.7+30.4 C 3-1-30
0 ~ 18min T=1187.6+33.06:  C 3-1-31
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U B 1 i, [ S ) 1 Iy 1 L

)
8 10 12 14 16 i8
W), min

3-1-7 30t
0149 @137 x 256 2260 x266 {267

3-1-28 63.4°C/min
Si Mn P 3-1-29
26.1°C/min 15%
3-1-31
33°C/min 25 ~35°C/min
1 50 ~ 100°C
2 40 ~ 80°C
3
T = T, + AT, + AT, + AT, 3.1-32
T— 3-1-33
AT, —
AT,——
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AT,—

T, = 1539 - >} %i AT, 3-1-33
% i
AT—1% i 3-1-9
3-1-9 1%
% AT % AT
C <1.0 65 A% <1.0 2
Si <3.0 8 Ti 18
Mn <1.5 5 Cu <0.3 5
P <0.7 30 H, <0.003 1300
S <0.08 25 N, <0.03 80
Al <1.0 3 0, <0.03 90
Q235F € 0.20% Si 0.02%
Mn0.4% P 0.030% S 0.020% 7C

T,=1539- 0.2x65+0.02x8+0.4x5+0.03x30+0.020x25+7 =1515C
AT, 70°C AT, 50C AT, 30
T =1515+70 + 50 + 30 = 1665°C

0=0 +0 3_1-34
Q
0 =CT +0Q +C, T-T, 3-1-35
c, C.— kl/kg K
T, T— K
0— kJ/kg
Q
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C. 0.699kJ/kg K 0, 272ki/kg C,

0.837kl/kg K T, 1773K 3-1-35

0 =27.4+0.837T ki/kg 3-1-36

2. C. 1.05kl/kg K 0,

209.34k)/kg

Q =209.34+1.05T kl/kg 3-1-37

FeO  Fe,0,
FeO 36.93k)/kg Fe, 0,
51.34k]/kg
Q = 36.93Fe0% +51.34Fe, 0,% kJ/kg 3-1-38

Q =36.93Fe0% +51.34Fe,0;% +1.05T +209.34 kJ/keg 3-1-39

1 3-1-10

3-1-10

1.0 1.0~1.2 3.0~3.5 3.0~3.0 3.5~4.0 2.0
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3-1-11

3-1-11
1%
< 8~12 30 ~ 40 35~45 15~20 20 ~25 28 ~38
P S
0.20~0.40%
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FeO

0.05~0.08%
0.05%
FeO
CcO Cco
CO Co
1.
CO
0.10%
) CcO
0.20%
CcO
3.
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50t 0.15% 0.01%
0.2~0.25m’/t 6 ~ 8s

a,=94.07 +36.8862/ %C ppm 3-1-40
100t

0 =10.99/ %C +1.63T C -880 %Mn -2236 ppm 3-1-41

150t
ap=36.63/ %C +1350.57 %Mn +0.77T C —-1387.78  ppm
3-1-42

FeO

FeO

FeO
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4min 50 ~ 100t 3 ~ 6min 100t
1000°C
800°C

1 15~20%C

2
100

3

FeO 2%
U

346 -

50t

4 ~ 8min

15kg/t
10C

800 ~
70t



3-1-8

3-1-9

3-1-43

3_1-44

- 347 -



d d, d—— g/cm3

m

R— em
h— em
4.2 ~5.0g/cm’ 1/3
1
SrR'd = 57 R - R dy+ Ryd, 3145
2
%nR3d=%n R - R d. + Rydy, 3_1-46
Ry— cm
d, de—— g/cm3
 min
30s
3.
1
100 ~ 150mm 0.004 ~ 0.006%
40 ~ 60mm 0.002 ~ 0.0035%
2
80 ~ 85% 70 ~ 80%
85 ~ 90% 80 ~ 90%
3
TFe
TFe  14.50%
TFe  2.60% 11.90% TFe
2.3% TFe  3.61%
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TFe 4.01% 0.059%

4

4.

30~35% 15~ 20%
10 ~20% Tkg/t
0.10%
0.035% ~0.069% 0.14% ~0.30% 0.017% ~
0.054% Q235B  16Mn 0.02% ~0.03%
3-1-10
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350 -

15%

0.05% ~0.27%

3-1-10

3-1-12

soer
[]
Qb
. ‘'
PR
. 13
» e
Y .
s 0
. 1y
.
Do id
L r
N 5
T b
3 i)
2ed 907
4 7
Zy 0 v
FORE %
Ze o v
) v ol
T ° ey
A g

3% ~ 5%

Cco Cco

0.25% ~0.70%



3-1-12 Q235AF

w ¢ /% <0.10 0.10~0.13 0.14~0.18 >0.19
/gt 85 ~ 100 50 ~ 85 0~50
Q235A- F 0.16% ~ 0.22%
0.035% 0.45%
Fe-Si  Mn-Si
TFe
(0{0)
Ca Mg
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3
4
5
Mn Si Al Ca
Fe— Mn Mn- Si Fe-Si Ca-Si Al-Ba-Si Fe- Al
V Ti Cr Ni B Zr
Si Mn
1
2 Fe-V Fe- Nb Fe-B
Fe—- Mn Fe- Si
3 Fe- Cr Fe—- W Fe- Mo Fe - Ni
Fe—- Mn

352



1/4 3/4

W Mn Ni Cr Mo

B Ti V Nb RE
_ % - %
- i 7 % 1000
3-1-47
% = % + % 3-1-48
2
B X o x Y4
- 1500 x 100% 3-1-49
90%
= x 100% 4-1-50
3-1-13
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3-1-13

Fe—- Mn Fe - Si Fe-V
w yn =68% w s =75% wy =42%
Nun/ % nsi/ % v/ %
16Mn 85 80
20¢ 78 66
35 85 75
25MnSi 88 80
45SiMnV 90 85 75
U71 91.7 80
C Si
0.02% ~0.05%
0.4~2.0kg/t
08Al
25%
Al-Ba-Si
Al-Ba-Si 3-1-14
3-1-14 Al-Ba-Si
0.13 ~ 0.11~ 0.09 ~ 0.07 ~ 0.05 ~
0.04 0.03 0.02
w e /% 0.14 0.12 0.10 0.08 0.06
0.286 0.571 0.952 1.333 1.810 2.190 2.571 3.333
/kg 1!
3-1-15 TFe
3-1-15
/o Fe—- Mn e i1
w ~ 0 o
¢ /% —r gt
0.21~0.28 40 75
0.14~0.20 40 70 we <0.16% 24
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Fe— Mn
w ¢ /% o e /g !
0.11~0.13 35 65 48 ~95
0.08~0.10 25~30 60 ~ 65 119 ~ 167
0.05~0.07 20 55~60 190 ~ 286
0.02~0.04 10~20 30 ~ 40 310 ~ 548
Fe—- Mn 1
1 Q235A F Fe - Mn
w/%
C Si Mn
Q235A F 0.14~0.22 <0.07 0.30~0.60
Fe- Mn 7.0 70
/% 90 70

w oy, =0.14%

77Mn:70%
% - % ;— %
_ 0.60% 50.30% = 0.45%
Fe- Mn 70%
Fe- Mn
_ % — %
B % x %
0.45% -0.14%
x 1000 = 70% x 70% x 1000 = 6.33kg/t
X % x %
= 1000 x 100%

_6.33x 7.0% x 90%

1000 x 100% = 0.040%
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Fe—- Mn 6.33ke 0.040%

Fe- Mn
Fe—- Mn
2 Q195A F Fe—- Mn Fe - Mn
w/!%
C Si Mn
QI95A F 0.06~0.12 <0.05 0.25~0.50
4.00 0.35 0.30
Fe—- Mn 7.0 72
Fe—- Mn 0.9 76
w e =0.06% 3-1-15
w oy, =20% x0.30% =0.06%
77 Mn :55%
% % 42- %
_ 0.50% 42—0.25% - 0.375%
Fe- Mn
_0.5x % — %
B % x %
0.5x 0.375% - 0.06%
x 1000 = 2% % 55% x 1000
= 3.98kg/t
Fe- Mn
_0.5x % — %
- % x %
0.5x 0.375% - 0.06%
x 1000 = 76% x 55% x 1000
= 3.77kg/t
X % x %
1000 x 100%

Fe — Mn
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_3.98x 71-(;)0’75 x 0% 100% = 0.025%

Fe — Mn

_3.77x 01-090%’ x 0% 100% = 0.003%

0.025% +0.003% =0.028%

Fe- Mn 3.98kg Fe- Mn 3.77/kg
0.028%
3 2 Fe — Mn 3kg
- Mn
2
3kg Fe—- Mn
X % x %
= 1000 x 100%
3.00 x 72% x 55%
= 1000 x 100% = 0.1188%
Fe- Mn
_ % — % — %
B % x %
0.375% - 0.06% - 0.1188%
x 1000 = 76% % 55% x 1000
= 4.69kg/t
3kg Fe - Mn
X % x %
= 1000 x 100%

_3.00 ><170%0X D% 100% = 0.0189%

4.69kg Fe— Mn

_ « - % x % 100%

_ 4.69 x 01-090’75 x 0% 100% = 0.0038%

0.0189% +0.0038% =~0.023%

357 -

Fe



Fe - Mn 4.69kg 0.023%
1 Fe - Mn Fe-Si Fe- Mn Fe-Si
2 Mn - Si Fe—-Si Al-Ba-Si Mn
Mn - Si
3 w Mn - w Mn w Mn Mn
w g w g
- Si Fe—- Mn
4 16 Mn Mn-Si Al-Ba-Si Ca-Si
Al-Ba-Si 0.75kg Ca-Si 0.70kg Mn - Si Fe-Si
w!%
C Si Mn
Mn - Si 1.6 18.4 68.5
Fe - Si 75
Al-Ba-Si 0.10 42
Ca-Si 0.8 58
16 Mn 0.14~0.22 0.20~0.60 1.20~1.60
7 90 80 85
wy, =0.16%
Mn - Si
. % — %
Mn - si = % x %
1.40% - 0.16%
x 1000 = 68.5% % 85% X 1000
= 21.30kg/t
- X % x % 100%

21.30kgMn - Si
358 -

1000



21.30x 18.4% x 80% _
- 1600 x 100% =0.313%

0.75kg Al-Ba-Si  0.7kgCa- Si

. 0.75 x 42% x 80%
Al - Ba-Si = 1000 x 100%

= 0.025%

0.7 x 58% x 80%
= 1000 x 100%

Ca - si

= 0.032%
Si Fe - Si

. % — %
Fe — Si = % x %

1000 = 0:40% - 0.313% - 0.025% - 0.032%
X = 75% x 80%

x 1000 = 0.48kg/t
Mn-Si  21.30kg Fe—Si  0.48kg
5 4 wy =0.36% w y, =1.32%

3-1-47

% — %
% = % x

x 1000 3-1-51

1.32% - 0.16%

T = 68 50 x 21.30 % 1000

=79.5%

B 0.36% - 0%
TS = 18.4% x 21.30 + 75% x 0.48 + 42% x 0.75 + 58% x 0.70

x 1000 = 72.0%

79.5%
72.0%

6 10MnPNbRE 0.10% 0.010%
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w/ %

C Si Mn P S Nb RE Ca
0.20 0.80 0.06 0.015
10MnPNbRE <0.14 <0.05 <0.20
~0.60 ~1.20 ~0.12 ~0.050
Fe - Nb 6.63 1.47 56.51 0.79 4.75
Fe- Mn 0.48 0.75 80.00 0.20 0.02

Fe-P 0.64 2.18 14.0 0.048

Fe- RE 38.0 31

Ca-Si 64.48 20.6

Fe - Si 75
Al-Ba-Si 0.10 42 0.03 0.02

W % 95 75 80 85 70 100

Ca- Si 2kg/t Al-Ba- Si lkg/t
1t
Fe- RE—>Fe- Nb—> Fe— Mn—>Fe-P—>Fe-Si
1 Fe- RE
% — %
Fe — RE = % x %
0.15% - 0%
x 1000 = 31% % 100% % 1000
= 4.84kg/t
2 Fe- Nb
% — %
Fe — Nb = % x %
x 1000 = W x 1000

360 -

T 4.75% x 10%
9.77kg/t



3 Fe—- Mn

Fe—- Nb
B X Yo x Yo
_ o % 100%
9.77 % 56.51% x 80%
_ 31 % 100% = 0.442%
Fe - Mn
% — %
Fe — Mn = % x %
1.00% — 0.442% — 0.10%
x 1000 = 80% x 80%
« 1000 = 7.16kg/t
4 Fe— P
X % X %
_ T % 100%
Fe - Nb _2.77x0.79% x85% _ 1004, = 0.0066%
1000
7.16 % 0.20% x 85%
Fe— Mn - 207 % 100% = 0.0012%
. 1%0.03% x 85%
Al-Ba-Si _ B % 100% ~0
Fe-P
% _ %
Fe— P = % % %
1000 - 0-09% = 0.0066% - 0.0012% - 0.010% - 0%
X = 14.0% x 85%
« 1000 = 6.07kg/t
5 Fe-Si
X % x %
_ - % 100%
. 2% 64.48% x T5% )
Ca- Si - o % 100% = 0.097%
X X %
- - % 100%
9.77 % 1.47% x 75%
Fe - Nb - A1 « 100% = 0.011%
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_7.16x0.75% x15%

Fe—- Mn

x 100% =0.004%

1000
Fe— P = 0-0TX2 8 X I3% 1009 =0.010%
Fe- RE :4'84X§’368X75% x 100% =0.138%
Al-Ba-Si = 1XA2. 05 X I3% 5 100% =0.0329%

Fe - Si

Fe - Si - o X 1000=

0.40% -0.097% —0.011% - 0.004% —0.010% - 0.138% - 0.032%

75% x75%

x 1000 =1.92kg/t

6
X X %
= 1000 x 100%
= 4.84x0% +9.77x 6.63% +7.16 x 0.48% + 6.07
x0.64% +1.92x0% +1x0.10% x 95% + 1000
x 100% = 0.07%
0.14% -0.07% =0.07% 0.05% ~0.07%
Fe — RE 4.84kg Fe — Nb 9.77kg Fe — Mn
7.16kg Fe-P 6.07kg Fe—-Si 1.92kg 0.07%
3.
RH
3-1-16
3-1-16 RH
Mn Si C Al Cr A Ti B Nb p Cu Ni Mo
. 90~95| 90 95 75 100 | 100 75 |70~80| 95 95 100 | 100 | 100
7 MLMnVB RH
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w/ %
C Si Mn P S \Y B
MLMnVB 0.13~ 1.30 ~ 0.085 ~ 0.0010 ~
<0.08 <0.025 <0.015
0.17 1.50 0.105 0.0030
0.12 0.04 1.25 0.020 0.010
Fe - Mn 0.9 2.0 70
Fe-V 0.6 1.8 42
Fe- B 11
3-1-16
_ % - %
= % x % x 1000
0.095% - 0%
Fe-V —leOOO—Z.ZGkg/t
% — %
% x % X 1000
. 0.002% - 0% _
Fe-B = 1% x 80% x 1000 = 0.23kg/t
1.40% - 1.25%
Fe—- Mn = 0% x 95% x 1000 =2.26kg/t
X % X %
= 1000 x 100%
_ 2.26x0.6% x 95% + 2.26 x 0.9% x 95% « 100%
1000
= 0.003%
X % x %
= 1000 x 100%
. 2.26x1.8% +2.26x2.0% +0.23 x 11% x 90%
- 1000
x 100%
= 0.01%
Fe-V  2.26kg Fe-B  0.23kg Fe- Mn  2.26kg

C Si
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= x 100% 3-1-52
= x100% =1 - 3-1-53
C Si Mn P S
100kg
1.
Q235B 3-1-17 100kg 4.438kg
3-1-17 100kg
w/ %
C Si Mn P S
3.88 0.475 0.310 0.038 0.038
0.15 0.124 0.004 0.025
/kg 3.73 0.475 0.186 0.034 0.013
2.
90%
Wyo, ~20% ~70%  100kg 1.16kg 1.16kg
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1. 16x70%xi6+1 16><20%><f—0 794kg

72 160
112——
160 Fe, O,
72 FeO
3. Fe, 0, FeO
7.777% W Feo :9% w Fe20h‘ :3%
6, 3506 112) _
100 x7.777% x (9% X 72+3% X160 =0.708kg
4,
8%
100 x7.777% x 8% =0.622kg
5.
0.93% ~2.06% 1.2%

100x 1.2% = 1.2kg

4.438+0.794+0.708 +0.622 +1.20=7.762kg

3.6% 1.2%

0.5% ~5%
P S

7.15t/m’ 4.0t/m’
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Cco

0.65MPa 1800m’ /h
0.75m 0.75~1.0MPa 2100 ~ 2700m* /h
1.5m 30t 4m 3t
2.7m
CO
TFe 3-1-18
W Fe0
3-1-18
/min
6~7.5 R 4.1 4.3
w p,o, 24.2 28.2
W FeO 24 .4 16.1
9~12 R

2.4 3.55
W p, 0 29.72 27.4
W Fe0 24 .37 9.42

@®

1.
CcO
CcO
0.4~0.6 C%/min CO
3~4.5 7~9 CO



TFe

TFe

TFe

TFe

co

FeO
1470°C TFe 20%
CO
TFe
TFe
TFe TFe
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Si P

BF 5 1 5% /m

3-1-11

368 -

TFe

TFe
Si0, P,0;
CO
3-1-11
B

b pnkers
2_
F-=-———————————— = —— #:47900 mm
0 2 3 10 14 18 T HHE B

W KA il /min

3-1-11

TFe



TFe

2 TFe

TFe
CcO

TFe

TFe
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P S

Mn

N N <t

Mn
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W

16Mn

2.8~3.2
371 -



372 -

10C

3t

30 ~ 150mm

1t



1/30
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30

3-1-193-1-203-1-21 3-1-22

3-1-19 30 —
% %

C si Mn P s T caorsio, FeO Fe, 0,
4.4 | 093 | 020 | 0.12 | 0.04 3.02 10.99 | 4.79
0.06 | 0.01 | 0.05 | 0.005 | 0.014
0.30 | 0.20 | 0.50 | 0.04 | 0.04

3-1-20
%
Fey O Ca0 si0, Mg0 MnO CaF, AL O, S
92.15 1.58 1.25 0.10 4.9
80 10 5.0 4.93 0.07
4.3 95.7
55 2.6 40 2.4
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3-1-21

AH ! AH : -l
1
Cor+50 4 =C0,1 - 139860 - 11676
Cr +0, e T =CO0, e T -919391 — 34944
Mn ¢ Jr%o3 v =MnO oy ~ 362800 - 6615
Si T + 02 T = S102 LT - 820260 —-29274
2P Jr%o2 , 1 +4Ca0 1 =4Ca0 P05, — 2232300 - 35994
s 1 |
Fe | ¢ +702 o1 =FeO | ¢ - 238980 —4263
3
2We g +5 0y, 4 =Fe05 ~ 724710 - 6481
-1625
Si0, ¢y +2Ca0 ¢ =2Ca0 Si0; ¢ 4 ~ 97440
. . Si0,
3-1-22
—l,oC—l -1 —l,oC—]
0.745 218 0.837
0.70 272 0.837
209 1.247
1.14
1.000 209
1. 1450C
2. 90 % CO 10% CO,
3. 1.0%
4. 8%
5. 1.16% Fe, 0, 70% FeO 20%
6. 1.2%
100
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31.7+3=34.7 91.5%
100 7.49 3.46 1.2
1. 3-1-23
2. 3-1-24
3. 3-1-25
3-1-23
C Si Mn P S
91.5% 4.02 0.85 0.18 0.11 0.037
8.5% 0.03 0.02 0.04 0.004 0.004
4.05 0.87 0.23 0.114 0.041
0.06 0.01 0.05 0.005 0.014
3.99 0.86 0.17 0.109 0.027
3-1-24
. . 32
Si Si0, 0.86 0.86 x 28 =0.98 1.84
16
Mn MnO 0.17 0.17x§:0.05 0.22
C CO 3.99%90% =3.59 3.59><%:4.79 8.38
C CO, 3.99x10% =0.40 0.40><%:1.07 1.47
30
P P, 05 1.109 0.109)(520.1 4 0.25
. ., 16
Fe FeO 1.26 l,26><%:0.36 1.62
48
Fe Fe, 05 0.49 0.49><m:0.21 0.70
1 1/3
S S0, 0.027x33% =0.009 | 0 009><§:0.009 0.018
72
S CaS 0.027-0.009=0.018 0.018x§:0.04
6.90 7.61

376 -



3-1-25

%
Si0, 1.84 7.49x1.58=0.12 3.46x10% =0.35 |1.2x4.3% =0.05/1x2.6% =0.03| 2.39 | 16.27
CaO 7.49%x92.15% =6.9 1x55=0.55 | 7.45|50.71
Cal, 1.2x95.7=1.15 1.15| 7.33
MnO 0.22 3.46x5% =0.17 0.39 | 2.65
MgO 7.49%x1.25% =0.09 1x40% =0.40|0.49 | 3.34
FeO 1.62 1.62 | 11.03
Fe, 05 0.70 0.70 | 4.77
P, 05 0.25 0.25| 1.70
Al O, 3.46x4.93% =0.17 1x2.4% =0.024 0.19 | 1.30
CaS 0.04 7.49x0.10%x% 3.46x0.07% 0.06 | 0.40
72
=0.017 XE—O.OOS
14.69(100.00
3-1-24  3-1-25
3-1-25 FeO  Fe, 04

Si0, + CaO + CaF, + MnO + MgO + P,05 + AL, O; + CaS

=2.39+7.45+1.15+0.39+0.49+0.25+0.19+0.06=12.37

3-1-19

FeO + Fe, 05 =10.99% +4.79% =15.78%

100-15.78 % =82.44%

12.37 +84.22% = 14.69
FeO=14.69x%x10.99=1.62

56

Fe=1.62x-5=1.26

72

Fe, 05 = 14.69x 4.79% =0.70

112
Fe—0.70><@—0.49
3-1-24 3-1-25
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3-1-25 3.1 FeO=11.03% Fe, 0, =4.77%
4.
3.46
Fe,0;,=3.46 x80% =2.77
2.77 Fe, O,
112
2.77 % —@—1.94 Fe
48
2.77)(@—0.83 02
100 1.16 70% Fe, 0, 20%
FeO
148 16
1.16)(70%><160+1.16><20%><72—0.30 0,
112 56
1.16X7O%X160+1.16X20%X72—0.75 Fe
0.5% 0.056
7.61+0.30-0.83+0.056=7.136
2.4 .
7.136><—32 =4.995
99.5% 4.995/0.995=5.02 3 N, 5.02-4.995 =
0.025 3
5. 3-1-26
3-1-26
3 %
2.4
co 8.38 8.38x 2= 6.70 86.9
CO, 1.849 1.84x2244:0.94 12.19
204
N, 0.03 0.03x 242 0.025 0.33
0, 0.056 0.056><2§—é4:0.039 0.50
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S0, 0.018 0.018x2§44:0.006 0.08
10.324 7.71 100.00
Co, 0.368
0.5% 0.056 3-1-26
x 3 y 3 3-1-26
_6.70+0.94+0.006+y
x = 0.995 - 6.70+0.94+0.006 + y
e= D005 199 27,646+
22 .4
32 22.4

=5 7.61 +0.30-0.83 + « {

y = 0995 7.61 +0.30 - 0.83 +y}

32

y = B0 199y = 4.956 + x
1 2
y = 0.025 N, x = 0.039 0,
28
y = 0.025 x 55, = 0.03 N,
32
v = 0.039 x 5577 = 0.056 0,
3-1-26
6.
6.90
0.75

14.69x8% =1.18
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1.2

1.94
=100- 6.90+0.75+1.18+1.2 +1.94=91.91
7. 3-1-27
3-1-27
% %
91.5 76.1 91.91 76.29
8.5 7.1 14.69 12.19
7.49 6.23 10.32 8.58
3.46 2.87 1.20 1.0
1.20 1 1.16 0.95
1.0 0.83 1.18 0.98
7.14 5.94
120.29 120.46 100.00
120.?30—.550.46: C0.15%

25C

= 1538 - 4.4x100+0.93x8+0.20x5+0.12x30+0.04x25 -7
= 1538 — 460 = 1078C
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91.4 0.75 1078 -25 +218.4+0.84 1300-1078 =109190

2
C—>CO 3.59 x 11676 = 41917
C—>CO, 0.40 x 34944 = 13978
Si->Si0), 0.86 x 29274 = 25176
Min—>MnO 0.17 x 6615 = 1125
P—>4Ca0 P,0, 0.108 x 36015 = 3890
Fe>FeO 1.26 x 4263 = 5371
Fe>Fe, 0, 0.49 x 6481 = 3175
94632
3
1.16x0.70 x = x 6481 = 3696
1.160.20 x 39 x 4263 = 769
4 Si0,

2.39x 1625 =3884
= 109190 + 94632 + 3696 + 769 + 3884 = 212231

=1538- 0.06x65+0.05%x5+0.005x30+0.014%x25 -7=1526C

=91.91 0.70 1526 -25 +273+0.84 16701526 =132779

14.69 1.25 1650-25 +210 =32962

1.94 x 6481 = 12571

4 1450°C

10.324 x 1.145 1450 -25 =16775

1.16 x 1.0x 1450-25 +210 =189%4

1.18+1.12 0.70 15.26-25 +273+0.84 1650-1526 =3091.2
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=132779 + 32962 + 12571 + 16775 + 1894 + 3091 .2 = 200072

=212231 -200072 = 12159

3-1-28
3-1-28
% %
109190 51.46 132779 62.56
94632 44.59 32962 15.34
C 55895 26.34 12571 5.92
Si 25176 11.86 16775 7.9
Mn 1125 0.53 1894 0.9
P 3890 1.83 3091 1.5
Fe 8546 4.03 12159 5.84
4465 2.11
8i0, 3884 1.84
212231 100.00 212231 100.00
_62.56+5.92
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100

x 100% = 68.48%



Imm

2mm

O >~ o0 O

10

N N <
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2~3
1~2s
2
30t 30t 401 38+0.5t
3 20 ~ 60mm
30t 1~2t 40t 2~3t
Smin 5 Smin
4
30t 0.6MPa 40t 0.62~0.64MPa 120t
0.8MPa
30t 1200mm =+ 100mm 40t 1500 ~ 1700mm
1300mm 120t 1500 ~ 2000mm
30t 30min 40t 32min 120t
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40min

5
6
2.
1
2
3
4
12
0.3MPa

Smin
10 ~ 15kg/t
6 ~ 8min Smin
4 Smin
5
1~3
120t
120t 110 + 1t
0235
1.5~2.2m
1.8x10*m’/h 0.8MPa 0.3x10"m’/h
MAGIK 1.5k MAFIK 1.5kg
L A 200kg ¢ E¢a) ZOOI;JgAEf
[l X 1.5kg
FRMAGIK Skg
22r | #H 200kg = t "an 200
EELMAELRAIK,
e 2T T A S A
~ 100~200kg
i 1.8
© 1.8~2.0
)4
1.5-
1.5~1.6
0 5 I T AT
WK A& [E] /min
3-1-12 _

3min

3-1-
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14

W—

w Si

11000k
7
8
Si 400m

10
11

386 -

0.6%

1250C 10°C 50kg
_06% - w S 190000+ 1250 - T x5 3_1-54
w Si
ke/
%
%
C
3-1-12 9000 ~
200kg
1720 ~ 1750C
2 Ca -
900L/min 70%
20min
3
7~10 10



Si0,

10min

G, S

FeS + CaO == CaS + FeO
6% Si0,
R 3.0~3.5
CcO
10

R

MnO MnO

4.0~4.5

100 ~ 150°C

co
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N N < v O I~ o0

4h

200 ~ 400

FeO

1 ~3t
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40 ~ 100min

10s
7 40 ~ 60min

4. 120t

1~2t
5° ~ 60°
0.5~0.7m

+ 95°

0.6MPa

3.5t

- 60°
389 -



+ 95°

I min

+ 20°

- 60°
+90°

60°

90°

390 -

-30°
1.6x10'm’/h
0.5~0.8 x10°m’/h
Smin 3~5
3~5t
30min
3 ~5t
+ 95°
30min
+ 100°
+90°
30min
+ 100°
-90° + 90°
30min
- 100°
- 60° -90°
30min

+ 20°

1.7m 30s
1.3~1.5m
30min

-30°

10min

+ 95°

- 60°

+ 100°

- 60°

- 100°



- VS I 8]

- 100°

5 ~ 10min
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392 -

200 ~ 400

1 10 ~ 60mm
2
3
3-1-29
3-1-29
3~18mm 65% <3mm 100%
35%
7.5% ~8.5% 18% ~20%
3.
120t
2t t =90min
4.
3
1
2
3
1



25

OBM
LWS 3-2-1
30

200
250

1973

40

30
1971
Q - BOP

OBM
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20~ 40
~15

1.2~0.8
1~2

5

394 -

3-2-1 LWS

5~25
50 ~ 65 4
1~2
0.10~0.15
3-2-2

65

50 8
500 450



e 600
500 {25 03
. o
I, sl 145 4N
3 \
g3 } 3 I 'L
= =z S8 B ) T yai R e!
S e e Y e = ST AN
Ea e 1
16 : !
850 -6 16
620
|#23]
M42%1.5
oA
3-2-2 5
300
600
50d d 16d
34+3 d
OBM
1
1750°C

395 -



2300 ~ 2500°C

-1

51.8~56.85
2225
2

396 -

150°C

CisH;, Cy; Hyg

8% 15%
12.4~13.6

-1

FeO + C=Fe+ CO
FeO + CO = Fe + CO,
FeO FeO

H, CO

20 30 60
2.4

3-2-1

Cn H2n +2
270 ~ 340°C
9300

450°C

200
2

115 30 ~ 50

65

0.13



3-2-1
X
-2 -1 -1
8 2 [ $21.5|1.7x1.1 224 8 HYO0l— 70 25 50 40
70 x 25
8 3 $18 [ 1.2x1.2 200 8 " CB—B25 25 25 40 25
6 3 $16 | 1.6x1.1 160 8 CB—BI10 10 25 40 20
150 5 $32 | 4.8x0.8 18 CB6—50A 50 25 125 100
8 4 $17 1.1x1.1 224 8 " HYO01— 25 25 40 20
25 x 25
5 3 $19 (3.0 x 0.8 96 8 " CB—B50 50 25 60 30
7CY—42/
8 3 $16 2x1.0 195 8 " 951 42 25 40 ~ 50 {25~ 30
12| 3 $16 2 x1.0 195 8 " CB—BI10 10 10 50 ~ 60 {30 ~ 40
7ZCY— 1.08
50| 8 $22 2 x0.8 196 8 " 25 63 21
1.08/25-1| 3/
H /D 3-2-2
3-2-2
10 20 30 50 100 150 200 300
/D 1.5~1.65(1.4~1.55|1.35~1.45|1.25~1.35/1.15~1.25{1.05~1.15{1.0~1.10| 1.0~1.10
V/T 0.7~1.1
3
JTF- S
D =, ——= 3-2-1
0.7
F S—
=0.5D 3-2-2
=0.35D 3-2-3
=0.45D 3-2-4
= 0.30D 3-2-5
=0.7D 3-2-6
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10

OBM vV T
D¢ = 1.499 0322 0.98 3-2-17
Hg = 1.892 1031 0.98 3-2-8
D = 0.763 V0416 0.98 3-2-90
Hy = 1.277 V03! 0.96 3-2-10
Dy = 0.771 732 0.98 3-2-11
Hy = 0.3837%%% 0.93 3-2-12
> FeO
1%
> FeO
8~12% Q - BOP
0.5~1.0%
3-2-3
> FeO
“ ” > FeO
FeO

398 -



3% 80%

0.6%
0.15~0.20%
25
ARTHK
5 {1800 20/\\/
<4 *
xZ-o -4 . o 1
\ ~ I\c deoo .
~y5k @3 ® o
C'; ,\: K\ I J1a00® E10f
K B 1 ~o AR
= \ N 1200 5t
0.5k 1\ Mn_ 0 \
N\Si NS
20 40 60 80 100 200 40 60 80 10
XA E, % AH XTI 6], 98
3-2-3
3-2-4
200 12
1/3
10%
1/3
1/3
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~5%

400 ~ 600 1000

400 -



1952

0.2~0.6% “ "’ =0.1%

10

1973 3

0.5~1

401 -



12 ~ 14% <01 - -

45A
1/3
1/3 25%

5%
1.5%

345638

3-3-1

¥
/
3

H

N

ol

3-3-1
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3-3-1

H D H, m n L B h d b a° 0
3710 | 2200 1300 600 600 1100 1100 385 550 3 900
4320 2490 1600 940 820 1300 980 430 120 425 3 1300
4600 2726 1700 950 950 1500 1500 420 145 677.5 3 1200

200 ~ 250°C
3-3-2
%__,._E‘:af-m === A‘A‘ﬁ’f‘_‘—
R VoY W W e *"wﬁk_
AF
i
i
3-3-2
1~2
$14 ~ 30
X 1.0~1.6 x 1.0~1.5
0.8~1.2 /
4~10 : -2
0.03~0.05 . -2
0~5°
80 ~ 150
400
350 ~ 500
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7~15°

100 ~ 300

N

3-3-5

> FeO

0.05%

70

40 ~ 50%

FeO

~80%

=90%
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k7K 6,68

pob) BESL 158
*Ekzsozxﬁ-
1ol BRBE200ATE R r—-—{‘
= SATFIA® |
9 |
> 8r FIRI00AJT %mgg:gg{/‘;: | 4
g iy ; i |l ]H
! Pl
3 N e
[
! !
=L T
6 2 4 & 8 10 12 14 18
12} H b
1 loi\ﬁ%jiz H
or N % \
» %ﬁjmﬁ. Bk 0.005% | )
8 f1.0mp Po.145p. |
~ ) BkBsonT i
B ol FK300T §
ﬁ ! { 1 R
= i
o 11 atil
1 | i
Jon o R
[ ] 4 6 8 10 12 14
WA (43
3-3-4
~
)
7.0 S
L6.0 v
p 50 Th
g 0.03 _
1 H0.02 3
2 2
P 0,01
Y 0 20 40 60 80 100
ARnE (%)
3-3-5
> FeO
> FeO 39,
> FeO e < S
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Cco

6~38 25 ~
30% <1.0% <1.0% 0.2~0.5%
N,
Ar 4.30~5.78 /100
5.17 /100
0.0026 ~
0.0077 %
1
2
1977
3 8 1973 150 1978
30
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3-4-1 LD OBM
LD OBM
w Tre /% 17-~22 10~ 15
/kg 17! 10 2
/m* t min ! 3.0~3.5 5.5
/m* 17! 48 ~ 60 45~ 55
/% 0.050~0.080 0.035~0.040
/% 0.04~0.05. 0.01
c. 0 29 ~30 20~22
/% +10
wy/ % 0.0002 ~ 0.0003 0.0004 ~ 0.0005
wn/ % 0.0020 ~ 0.0040 0.0015 ~0.0030
8~ 10 1
w /% 0.10~0.15 0.25~0.30
/1000cm> c¢m™3 100 ~ 200 800 ~ 1000
/% 70 ~ 80 100 ~ 120
/% 4.5~6.0 7.0~8.0
co /% 5 2~3
$co, /% 12~15 3~5
Pco we=0.05% /atm 1.0 0.60
ws=1.5% /% 32~33 27 ~28
/% +0.7~0.15
1. w ¢ =0.04% ~0.05%
2° " LD OBM

0.12m*/ t min
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0.01~0.2m>/ t min

NK-CB
-1

LD - KGC

LBE 1975

LD - CB

co
LD - KGC
6000
STB

LD - CB BAP

O

LD-KG (N,, Ar)

ey
/

LD-HG LD-OTB
(©2.CH) - (N, Ar, 07, CO,)
LBE
(N2» Ar)
3-4-1
1984
NK-CB
CO,
LD - KGC
4.3MPa 1985
BAP
OTB

0,

TRM

N, Ar CO, CO

OTB

1981

LBE
3-4

co

LD - KGC
TBM
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5% ~

0,
40% 0.25~0.8m’/ t min
LD - HC
- OB K - BOP 1987 300t
K - OBM 1.4%
0.015% 0.0023% 0.0250%
0.53kg/t 1.36kg/t
2.5% 3-4-2
& o |
|
e o0
K—OBr'vi ! X ll(ls
{!!) <—\ : /KMS
((%3;3?]%)91 /ZOZOB’M/Q :?\\ /02\ /92
[‘a, -BOP :@__
| } I |l
K- OBM KMS KS
3-4-2
3.0MPa
LD - CB
~3.0MPa LD-CB STB NK-CB
5.0MPa LD - KGC
5.0MPa 3.0m’/ t min
LD - CB
20 90
5 N,/Ar
C0,/CO, N, Ar  0,/C,H, ~ 0,/C,H, + 0, +
-4-2 20 90

410 -

LD

2544

2.5



3-4-2

0, + CO,/CO, 0,/C.H,
N,/Ar 0,/C, H, 0, +
N, Ar ’ +
38.53 24.10 29.87 4.58 2.92
/%
1980 1983
N, CO, Ar O,
STB Ni- Cr
3-4-3 20 90
3-4-3
0,
/ o x
/%
m>* min t ! / %
CO, + 0, 180 x 1
AFC 2.0~2.5 >95 <5 1986
+ N, + Ar 150 x 2
LD-CB 100 N, + Ar 1990 300x3
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0,
/ 0: X
/%
m* min t ! /%

100 N, + Ar 1983 90x 3

100 N, 30x 3

LBE 100 N, + Ar 1991 50x 3

LBE 100 N, + Ar 1990 15% 2

LD-CB 100 CO, N, 1990 30x3

CO, N,
STB 15%1
Ar O,
100 N, Ar 120 x 2
LD-CB 100 N, Ar 1993 120 x 1
20 ~40%
<0.15Nm’/min t LBE
2Nm’/min t
3-4-3
N
2/3 1/3
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0.2% +0.07%
+0.02%
0.5}
I’ d
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5‘:0’3 /,/
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N (-]
Lo. o o £ o
7z
0.1+ // /’ *
/s
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3. 1. e 1
0.1 0. 2 0.3 0.4 0.5
G, %M. 1
3-4-4 C
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Fe Mn C
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800

600

m

ﬁ?}% pp!

200

| SV S ST S S TN T—
0.05 0.10 0.15 0. 20 0.25 0.300.35

» %

Pco= 1% 10°Pa

1000p

800

=
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(TFe) , %

(TFe) , %

3-4-9 TFe



-10

3-4

0.3Nm’/min t

1 2
10
100
10
80+
80k
[}
oy
ggm-
P
&
1Ra0
0 00T 0.02 0.5 0] 5.2 L0 20 5.0 10
RRKEHT, of /minet
TRBR qeK { Ew ’
3-4-10
I—LD - KG 2—NK CB NKK 3—LBE ARBED 4—LD- OB NSC

5—IRSID 6—BSC 7—BOP 8—Q - BOP 9—LD OTB Kobe kakogawa

10—LD - OTB Kobe Amagasaki

11—STB Sumitomo

€=0.0285QT/W- g 1+ Z/H

W/

cm

t

Nm®/min

3-4-1
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H_
T

N, Ar

Cco,
Co,
N,
N,

N,

418 -

1 x 10’ Pa

H = 148cm

0.04~0.06%
N, Ar

CO,
CO,

N 5~ 10ppm

800- ¢ °*

3-4-2
3-4-4
CO, N, Ar
0.2%
N, Ar
N
CO, + C—>2CO
Cco
30 ~ 50ppm
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Ar

Ar N,
3-4-11 3-4-12
3-4-11
_SmB__ LD-OB LD.HC K-BOP KMS
g - ﬁ V77, ? -
NG . NG
0, ‘ O: + B
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1.2mm/

ARBED
100

3-4-13

W_o——sn‘

0.5~5.0mm
~10.0 0.7 ~

IRSID

3-4-13

3-4-14
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3-4-14

3.
Mutiple Hole plug
3-4-15
$0.1 ~3.0mm $1.5mm
10 ~ 150
3-4-16
CO, Ar

CO, 3-4-17

1— — 3 4—
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_ml.n/////./ RS OSSN

MHP - D

3-4-16

<

b o
(MIP
~D#)

Ul

7

X
(MHAP

U

CO,

3-4-17

~4-18

0, +

100%

0,
0,

~10%

+5

0, +

90 ~ 95%
70 ~ 80%
60 ~ 80%

+20~30%

0, +

0, +

40%

0, +

+20

0, +

0, +

100 %
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3-4-18
3-4-4 3-4-4
1 LD-KG LD-OTB LD - AB LBE Ar N,
NK-CB J&L CO, LD-KG LD-
OTB LD - AB NK - CB LBE
2 BSC-BAP LD- OB LD-HC STB STB-P 0,
BSC — BAP N, LD- OB LD-HC
H 4~ 5ppm
STB 0, CO, CO, N, Ar STB-P
3 K-BOP OBM 40% 30%

4 OBM -5 KMS - KS Hoogovens — BSC ALCI
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3-4-19

s g 0
B HE ‘
- NS ) — —

3-4-20
C H 3-4-22
3-4-23

— 5

Ar, N;

3-4-121
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100 %

3-4-24
70% Mn Cr
3-4-20
o— O—
A 2.t AT
4
ca0l 250t 31 4 W
&
“2.0F
gﬁ,l.o— () [ ]
g
[- M-
0.01 0- 02 0.040.070.10 0.20 0.40 0.70
&#R(Q, %
3-4-21 C
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30+

20

(1Fe) ,%

¢ 0. 05 U1
et (O, %

3-4-22
—NK - CB O—NK-CB+
0.1Nm’/min t @-LD+ W LD
1000y
| Cee?
80 0F
. 600
g
g t
40 OF
©
200+
0 0. 05 0.10
B (Q, %
3-4-23
—NK - CB 0.10Nm*/min t W LD
O—NK-CB+ @®—1LD+
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Gt ZER)

(Mn) (754, %
S 8 :

200 0. 10 0. 20 0+ 300. 40 0. 50 0. 600.70

ax€Q ., %
3-4-24 C Mn
O— o—
2ppm
H CO H 3-4-25

o
H 4f-
%[4
iz
w0,
1%
S R R SO TR R
WAKHFEE, ke/t
3-4-25
H =1.27+0.040 x CaO kg/t
r=0.855
P N
0.01% N N <20ppm

0.4
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3-5-1
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0G

60% ~70%
90%

0G

10% ~ 20%
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A Fe CSiMnP
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30t
Vo = Vo +0.08A7 +0.46AW, +0.56AT, +0.779ASi, + 0. 1AW +0.3AW ,
2 2

~1.2AW, =0.13AW o = 1.3AW,, - 0.18A W, —0.47AW 5 +0.6AW ; —4AP,,
~5AC.+0.19AT, + 3-5-1
Vo, — m’

3
Vo, — m

At
AW, —— t

AT, —— K

ASi,—— 0.01%

AW —— t

AW,—— kg

AW, AW, AW — kg
AW, AW, AW ,—— ke
AP, —— x 10° Pa

AC— 0.01%

s

AT — K

s

3-5-1

y0:y1+f Xog— X 3-5-2

Yoo

Xo
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3-5-3
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OC = OT
O¢> 0y

o 1
oczjh R Toep —KCoG U 3-5-5
T,=T,+ A0, 3-5-6
K
K
K/m’
m3
Oc O
0: <0y
5s
Tagl- —

HE/K
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3-5-7

1.7~3.0MPa 1.3~1.6MPa
0.8~1.2MPa
ZE/C CPU  CPU CPU CPU CPU CPy
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DCS DCS

PI 1.3~1.6MPa
RB Vy=1.243V, -0.507V, +30% V,
Vi, V,
DCS
CRT
DCS
DCS PLC
DCS CRT
0G
3-5-38
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it A

®
—-
FT

£#eB

.

K

i

CO,

N, Ar

3-5-9

m’/t min

0.01~0.1

m’/t min

0.15
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10

®

COz—E—
SOV-012 ERE SEQ ---9
Q PT-111 | ERE . |
L TE-111 "FT-131 |
-4
I A ¢ 8
SOV-011 SOV-111 FE-I131 FCV-13]
@EF],E SEQ| ————
Q PT-121 | _ZRE ) |
'TE-121} @ FT-132 1
-4
“ B9

QPT-]S] s

T-152

Q®

Sov-121 FE-132  FCV-132
3-5-9
2
3
4 DCS
DCS DCS
oG
0OG Oxygen Converter Gas
Recovery 300t oG
99.9% 100  mg/m’
+ 20Pa 55% ~
65% 2t/t
5 mg/m3
27 % 21%
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0G

800mm
DCS
H oG
SV
L, “ " oG
L, ~ L H, ~ H,
H3 “ 7
1200°C
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500mm

50mm

L,
H,~1L, OG

Po

0G



L,

DCS

N

SV

1000°C

MV

SV

MV

L L,

0G

Mv
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DCS
3-5-10

3-5-11

77777

SET

=

5@

:

SET| _SET-3  SET

QO O---

_ __ D P
C
SET-4

)@@ﬂ =l

3-5-10
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EAREBHFRM

N8 ALK BB

/L EH KRBT

3-5-11

0G

CcO
8 ~ 10min

]

A KV IR X1
(AEBRE TF)

l RIS R OG B ABIE T

+ 20Pa

3-5-11

3-5-12
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3-5-12 0G

3-5-12

DCS

DCS

$40mm

+0.25%

- 300 ~ + 300Pa

10s

448 -



3-5-1

3-5-1
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1%

0G
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300t
PGC 3-5-13

20 60

300t
0.15~ 1.5t/
min 0 + 360° 4.5s
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2 3 4
6 7
8 9
28 ~ 30min 4 1
0.1~0.8r/min
+ 360° 0.1~0.8r/min
1
PLC “ ”
PLC
2 + 360°
PLC
3
+ 360°
PLC
4
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0.1r/min
6 “ ”
1 45° ~ 60°
2.5 ~3min
2
“ " 1.4min
3
“ " 1.5min
4
2.5min
5
“ " 2min
PLC 1 2
3 4
5
PLC PLC
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+20 ~25mm
PLC
PLC
PLC
3-5-17
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PLC

300t
PH
HC
APC
1 0.5MPa
1.5MPa 50°C
2 0+2°
3
3-5-20 PLC
1
2“ ”
3
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3-5-21

PLC
PLC PLC PLC

FIRE  No3BC

'l
L E HTE S

OO CUTIOTTD |2 45 B s |
'-'W ) % ANo.2 BC @
9 qqqq CICICIC] CICICI MR A\ G T A ——
l/ \| ERFNOIBC  BZE BHEEEEBC
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PLC
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13 ” 3 _ 5 _ 6

” 1 4»2 93 13 ”

3 _5_6 13 ”
Fe - Si
1 1 2 2 3

w 1.5 |13.7| 0.3 | 0.6 | 4.61 4.61| 7.4 |1.781 0.9 | 0.9 | 1.1 0.6

B’ 13.5/68.5[11.4] 6.0 [23.05 23.05| 37 |10.68| 18 9 7.7 60

B /W 9 5 38 10 5 5 5 6 20 10 7 100

8 1 12 10 3 2 4 6 5 11 9 7 13

3_5_7 « ”
Fe — Si|Fe - Si HC HC LC LC MC
Si— Mn Al C |Fe-Tij
1 2 Fe— Mn 1 [Fe— Mn 1 |Fe— MnFe - Cy Fe— Mn
W 10.625|0.625(0.395 0.806 0.806 |0.077(0.0285 0.9 | 0.012
B’ 6.25]16.25| 7.9 8.06 8.06 7.7 | 11.4 12.0
B /W 10 10 20 10 10 100 | 400 1000
3 4 5 12 1 2 8 10 6 9 11
2 13 ”
3
PLC PLC
PLC
4
5
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